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El Compléte par des nombres relatifs.

a. - 64 < -63. < -62 < -61 < -58

b. -123 >-1235> - 124 >-1243> - 125
€. —052 <-0,511 < -0,51. <-0,501 < -05

d. -61 =-611. > -6,2 > -6,21. > - 6,29

Effectue les calculs suivants.

A= (+21)+(+08) =(+29)

B=(-151)+(-0,14) = (- 1,65)

C= (+03)+(-1) =(-07)

EX Encadre par deux entiers relatifs consécutifs.

s =3< =23 <=2 e 0> -014 =>-1

a
b. +4< +42 <+5 f -1< -098 <0

f

-15>-1511>-16 g. -12>-124 >-13

&

+1>=+014 =0 h. 0 < 0,003 <+1

D=(-117)+(+117)=(0}
E= (-11)+(-04)
F =(+215)+ (- 1,37)= (+ 0,78)
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G= (-23)+(+05) =(-18)

=(-15) H=(-048)+ (+2,43)=(+ 1,95)

=(-3,87)+(-193)=(-58)

ING A3 = 338
loc F=2,15-433F - 039
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